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I fattened it, and you will take it! — NpPR NNY RI2OVDR RIN

OVERVIEW

nww 21 challenged the view of 21 (who maintains that ' '71 793 is 172 77297 NYWw))
from a Xn>72 which states that by 72w 7wnd he pays 213w Y2 and not nNyw>
772 772¥0. The X3 answered that concerning 7AW w2, even 17 admits that
he pays only 213w 1°v5, for the 213 has a valid argument; N2pwW NXY RI°0OH °IX; why
should the owner gain the 'm '7 "m%wn for the expense and effort that the 213
invested. However where there is no claim of X32°0951 °IX (such as by X1 Xpy),
then 27 maintains that 'm "1 993 is 172 77AY7 nywd. Our Moo will explore the
ramification of this answer.

= 1972 NTNRYN NYYI NN NIHNN NNVINMYIT YIYN
It seems that when it was fattened of its own accord (not through the effort or
expense of the thief), then he must pay the ' "1 993 as it is worth 7727 nywsa

1772, for the X ) explains that the reason [in the Xn*931] he pays 213w YD is because the 213
argues N2pw NR) XI°WON RIX; however where there is no such argument, he pays the higher price
1°72 a71Y0 DYwd -

- LHnn NNVaNIYA 297 NYNYN MIPIND I8N MN N 290

And according to this answer (that the 213 claims X12°057 XIX and that is the [only]
reason why he pays 213w 1v2), the X723 could have established the ruling of 29

(that 121 290 "MHWn is P72 77AY7 NYWI) in a case where 7P9R% 7UENI (since in that

case the 213 cannot claim R12°091 RIR) -
= XD NP MNIPIND 7298 MN N

And it would not have been necessary for the X713 to establish the ruling of 217
(concerning 131 992 "m>wn) [only] by 8231 8P it could also be by m*oxn amusnI.

mooIn continues that the aforementioned concept (that 27 will maintain by 728 mnwona that the
21 pays 121 993 as it is worth 72 77197 nYWwI), is what we would have thought based (solely) on
the answer that the 213 can claim RX11°057 XIX -

- Tanw 1Y 71 74 DD DHWN NIONN NNLONIYI ITIAN NNPNN 29T 1)
However, truthfully even if the animal was ;79%8» m7wsni the rule is that the thief
pays 'm '7 99> as it was worth when he stole it (and not the higher price of 772v7 nyw
772 as MoOIN inferred initially).

" See “Thinking it over # 2.
* See ‘Thinking it over # 1.
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mooIn explains that the reason 98 7AWVONI pays 22 1°Y3 is because it is -
= 23V Y5 /M 71 Had tbhwnt 31):‘,75 9NT DN NWYN NHLI NS

Like a sheep (which was stolen) that (later) became a ram and the thief
slaughtered or sold the ram, which the X3 rules later that the thief pays '7 ®2
213 ¥ "M and not 1772 7727 NYW) (even though there is no claim of X1°0on RIX) -

- 539 NY 9199W 1999N)
And even though the thief does not acquire the X through this ‘change’; it still
belongs to the owner (even when it is an 2°X), therefore seemingly the thief was 7511 72V an 2K
of the owner, nevertheless he pays 2w 1°v3; the lower price of a 79v. The reason is (as the X

states) -
= 73913 %23) N7 72911 223) NN VN 1Y 9INRT OIVYN

Because the 213 says to the owner; ‘did I steal an ox from you, did I steal a ram

from you’ (the 213 merely stole a sheep or a calf), therefore he pays 213w 1v> 'm ' 993 of a

sheep or a calf (the lesser amount) -
= 3510 523) NNV VN NPT 9N I8 NIINN NNPVINIYI ) NIN

Here too when the animal was 57°98% 72won3, the thief can say to the owner, ‘did

I steal a fattened animal from you?!’ He only stole a 7win3 therefore he pays 121 99 for
a 21w 1y2 7wInd (the lesser amount).

Mmoo anticipates a question; why then by X711 X7p1 does the 213 pay 172 77ayn nywd; why
cannot he claim I stole an inexpensive animal from you, not a high priced animal. Therefore I
should pay %93 for a X717 not for a X7p1°. MdOIN explains:
= 1972 NTRYN NYWI /NI 74 DD 29 9INPT NIN XD RIPIA RPIYT
And it is only concerning X771 X771° where 21 maintains that the 'm '7 %92 must
be paid 1°72 77TRYR YWD -
- 57399 5232 KDY YON MY Y RYT
For there (by X717 X1p7) the claim of ‘did I steal an expensive animal from
you?’ is not applicable.
- own N9tYa ynpY YIaN NYL)

310

*If the 233 would acquire the animal through "W (that it was initially a 7% and became an 2°X), then there would be
no 211 of "M "7 *m>wn altogether, for the 213 was 1321 12v his own 2°X. We must therefore assume that the X still
belongs to the original owner (and was not acquired by the 7213 through ).

> By 9K mwya 7190 or qwmwm Awind if he pays the current price this means he is paying for an °X or a 71w, when he
stole only a 119v or a TwIN2; however by X211 X721 when pays the current price he is paying for the animal which he
stole which is now worth this current price.

® px5u 71"7 '0I03 X,10 A7. There Moo explains (in addition to what was mentioned in footnote # 5) that the 770
writes concerning M '7 *m>wn the word nAn (WA DN IRY YR MW NAN P2 qwan), indicating the body of the
animal. Therefore we assume that the 770 wants the payment to be in place of the animal that he stole. However
concerning the price of the animal which depends mainly on the assessment of 7"°2 and is not mentioned explicitly

2

TosfosInEnglish.com



RIX 77"7 '0I0 R,70 P2 .7"02

And later I will explain 77''v2 the reason why by 2°x nwyn 7% or by nrnwm mwn> the
213 can argue 73° 213 7N or 11 KAWL A1nw; however it is not logical to argue 71°% °213 XY by
X2 X1, This will be explained in the &3 -

$PYOY TYD DT NIPIYNTI OINIV 9INPT NN *2)

which states the answer that 1wy D@ 2%%7 RIPYRT IR,

SUMMARY
The ruling of 27 concerning '™ "1 %93 that it is 172 7727 NYW) is only by X211 R
and not by nnwvani (even) oRx. In all other cases he pays 213w 1°93.

THINKING IT OVER

1. If the rule is (as M0N maintains) that even if 7987 7nWoNI he pays only %95
21w, then why did the 87»3 give the (seemingly misleading) answer that by 7wIn>
71w the 213 pays 213w 7°¥3 because RX12°00 XIX, when even if not for the X12°05 RIX
he would also pay only 213w Pv2 (by 79987 nnwon1)?!

2. moon initially said that we could establish the ruling of 27 by ;9%» nusna.® In
the case of %&n nvnonl the ruling would be that not only are the 'm "7 *m>wn
payable 172 77avn nywd, but even the 777 would also be payable 172 772v7 nywd
(for the rule is that if '7 7109 117 X W Xy, then if 70w W 77720 which is the
equivalent of 72»1 12w, he pays 2177 7). How can mooin claim that we could
establish the rule of 27 by 7*>xn Anwoni?!°

in the 77N, there we say that we follow the current assessment of 7"%2 (for 7992 70X is only for the 1Ip). w">
nvoIna.

7 See footnote # 2.

¥ See footnote # 1.

? See 11"nX.
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